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Revision activity answers 

Task 1

1
Prepare the slide with the specimen cell. Place the coverslip gently on the slide to avoid 
bursting the cells.

2
Place the slide on the stage and move the stage to its lowest position to allow for movement of the objective lens. 

3
Switch the light on so you can see your object. 

4
Select the objective lens with the highest magnification. This is because cells are very small and need a high magnification. 

5
Turn the coarse-focus knob until you can see your cell. 

6
Then turn the fine-focus knob until you can see your cell clearly. The fine-focus knob brings the cell into focus. 

Task 2

All living organisms are made up of cells. Cells are the building blocks of life. They are the smallest unit found in an organism. The cell contains components that each perform different jobs. (Nearly all cells have a cell membrane, nucleus, cytoplasm, and mitochondria. Plant cells also have a vacuole, cell wall, and chloroplasts).

Task 3

Plant and animal cells both have a cell membrane, nucleus, cytoplasm, and mitochondria. Plant cells also have a vacuole, cell wall and chloroplasts. 

Task 4 

Root hair cells absorb water from the soil through diffusion (osmosis). 

It has a thin hair-like extension. 

This increases the surface area, increasing the rate of diffusion. Some students may also observe that the root hair cell has no chloroplasts (as it does not photosynthesise). 

Task 5 

Diffusion is the movement of particles from an area of high concentration to an area of low concentration. (In the case of cells, diffusion happens across a cell membrane.)

Task 6 

Students should have drawn a labelled diagram showing the membrane of a cell ;; the particles that will be entering the cell – less concentrated outside, higher concentration – mention the process involves going against the concentration gradient, so energy from respiration is needed:
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gradient.The process requires energy.

Active transport in plants

For plants to take up mineral ions, ions are moved into root hairs, where they are in a higher
concentration than in the dilute solutions in the soil. Active transport then occurs across the
root so that the plant takes in the ions it needs from the soil around it.
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Active transport in animals

In animals, glucose molecules have to be moved across the gut wall into the blood. The
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